
45 ‐ 7 = 

34 ‐ 6 = 

23 ‐ 8 = 

57 ‐ 9 = 

62 ‐ 6 = 

Challenge:  
Now get some Numicon to complete these problems ‐ the strategy is the same! Remember: You can 
draw the Numicon in your book if it helps you. 
 
A) A man has 62p and spends 7p. How much does he have leŌ? 
B) Mrs Coady has 33 sƟckers and uses 8 to celebrate good work in Green Class.  How many are leŌ? 
C) Mrs Stringer needs to ride 23 miles on her bike.  She stops aŌer 5 to have a drink. How much more 

does she need to ride? 


